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Simplification Questions for IBPS PO PRE and SBI PO PRE Exams.

Simplification Quiz 9

Directions: What value should come in place of Question mark (?) in the following question?

1.  40% of 375+ Y512 x 30 = 4500 + ?

A.8 B. 10 C.9 .12 .15
2. ?°-300-43+4=148+37
A. 12 B.7 C.5 .2 . None of these
3. 299:1169x11-+/361=2?*+38
A. 11 B.8 C.16 .14 . None of these
4, 42.5% of 750 = ?% of 43 — 26% of ?
A. 1525 B. 2152 C. 1850 . 1625 . None of these
5, 28_31.51_ 5,87
13 13 4
A. 2 B. £ C. i .E . None of these
15 13 52 52
6. 32.5% of 1388 — V4096 +4 x /529 =7
A. 65.8 B.72.6 C.83.1 .69.2 .55.9
7. 945x512+3/343:6.4=2*+56
A.—-56 B. 44 C.25 .—32 .35
8. 23x[(112:(B+22-2)]=2:725x204
7 6 18 6 36

A. ﬂ B. b C. 2L Ed . None of these

7 2 5
9. (2477.68 + 1254.87 — 3647.89) = ? x 13 - 84.34
A. .21 B.17 C.11 .25 . None of these
10. 27.5% of 256 —? % of 340 =-31.6
A. 25% B. 35% C.27% . 30% .16%




Correct Answers:
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Explanations:

1. 40% of 375+ /512 x 30 = 4500 + ?
150+ 8x30=4500 =7
?=4500x 8+ 150 + 30

?=8

Hence, option A is correct.

2.
148
?®-300-43+4="—
37
?®-343+4=4
?’ =343
=7

Hence, option B is correct.

3. 22 x11-/361=72+38

169

%x11—19=?2+38

23x11-19-38=7?°
253 -57 =7
?°=196

?=14

Hence, option D is correct.




4. 42.5% of 750 = ?% of 43 — 26% of ?

43 x?—-26x7?

0 =
85% of 375 100

2
0 - P
85% of 375 =17 x 100

Hence, option E is correct.

5.

11 1 1
— —3—+5—="7
213 313 54 x 87

11 1 1
- —_—+==7
(2 3+5)+13 13+4 ? x 87
44 -4 +13
+—

4
52

=?x87

4+E=?><87
52

Hence, option Cis correct.




6. 32.5% of 1388 — 4096 + 4 x 529 = ?
?=65%0f 694 — 64 +4 x 23
?=451.1-16x 23

?=451.1-368

?=83.1

Hence, option Cis correct.

7.945%x512 + /343 +6.4=?>+56
512

=?22+56
7 x 64

945 x

135 x 8 — 56 = ?*
1080 - 56 = ?*
?2=1024
?=£32

Hence, option D is correct.

8.
3 2 25 5
2=x[(115+ (= + 22— =?+72.5x204
o [(11g+ (T5+ 25 36)] >x20
17 68 ,25 17
or —x[e+(Tg+ % - )]—?—725><204
17 (68 50+102-7
—x[=s ————""]=?:72.
Or7x - 2 ] 72.5 x 204
17 68 145
I x—+==-2:725x%x204
Or 2 %% 36 >x20
17 68 36
x—x—=7?=
Or7><6x145 +72.5%x204
17 68 36
D= —x——
7><6x145x725 204
>V
7

Hence, option A is correct.




9. (2477.68 + 1254.87 —3647.89) = ? x 13 — 84.34
(3732.55-3647.89) =? x 13 -84.34

84.66 +84.34=7?x13

169+13="7

?=13

Hence, option E is correct.

10. 27.5% of 256 — ?% of 340 = —31.6

55% of 128 — ?% of 340=-31.6
70.4+31.6=3.40x7?
102=3.40x7?

102
?=—=309
3.4 %

Hence, option D is correct.




N 7
-6 SmartKeeda
= The Question Bank AN
Ud HRd © \@;>
TestZone "
TRT P Fa9 fhBrRId e AR

oy

12 Month Plan
2017-18 All Test Series

- %399/-

300+ |l o X

¥ 15 fawelyor
M Ichee fawa Al

IZ_EJR@I[

it oS

Sl



https://testzone.smartkeeda.com/Test/Pricing

